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SECTION—A

( Marks : 25 )
1. Answer the following as directed . 1x4=4
(a) Derive the word ‘ST
(b) How many types of fiifn are there?

(c) S$iva Satras are known as ——
( Fill up the blank )

(d) 73R |
( Fill up the blank )
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2. Explain with Sitras any three of the following :

3x3=9
Samprasérana ; Upadha ; Ti; Vrddhi.
3. Explain the following Siitra : - 3
WA Fream e et

R T e S R

4. Join the Sandhis any th;ee of the fo

llowing with ]
mention relevant Siitras :

. 2x3=6 |
W+§§T:;m+3]§:;é§+ﬁ:;ﬁ+31ﬁ;‘
?r+3m\;ﬁ"r+s!ﬁ|

S. Disjoin the Sandhis * in vany three of the

following : ‘ 1x3=3
TEHISDT ;5 STt ; vy 5 Tt |
SECTION*B
( Marks : 15 )

Sttras (any five) :

;R sy RE o
ey ; ooy
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7. Quote and explain the relevant Siutras for
changing dental Y into cerebral Y of the following
(any five) : 1¥%x5=7Y%

gfy; ofieEd ; WR%'R:;’ggH:; Ffem: ;
fiym: ; ghfdRe

SECTION—C

( Marks : 15)

8. Decline the following as directed (any two) :
1%x2=3

(a) & in TAAT in all numbers
(b) ‘AT in Tl in all numbers
(c) ‘= (§ferF) in W& in all numbers
(d) ‘¥ in TAHT in all numbers
9. Decline the following as directed (any five) : 1x5=5
(a) ‘TE in WEH TG
(b) ‘I in TR T
(c) ‘RY in fofiay aga=a
(d) “PIT in FAAT CHEHA
(e) ‘T in FEH T

() ‘== (§fe) in wEA ,
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10. Conjugate any one of the following as directed : 3
(a) V9% in ¥ in all numbers of 1st person
(b) & in ¥ in all numbers of 2nd person

11. Conjugate any four of the following as directed :
| 1x4=4
(a) N in ¥Z 3rd person singular number

(b) IR in ¥ 3rd person plural number
(C) V4 in 91T 2nd person singular number
(d) ¥ in ¥ 1st person singular number
(e) ¥in ¥ 3rd person 'plural number

(f) & in ¥ 3rd person singular number

SECTION—D
( Marks : 25 )

12. Explain any three of the ‘following Siitras

‘with
examples .: ,

3x3=9
(a) STveHfeE
(b) STEI FrETREE:

N
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(c) T
(d) T4 weffe:
Or

Define ¥9¥. How many ¥Ws are there? Name
them and give one example of each. 2+1+6=9

13. Compound any three of the following with
relevant Sitras : 1x3=3

e ey ; e d: ; T go: ; ST qem
AR : '
14. Explain the following Sutras (any.two) : 3x2=6
(a) WA AT
(b) S g
(c) e Fuion
(d) ¥3: B

15. Account for the case-endings of the following
(any seven) : 1x7=7

(a) 3 AT T
(b) F&1 @R
(c) = ffa
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(d) s s e
(e) TRww =i ==fa
(0 & IW e
(o) TH3: T
(h) R R

(i) it & 5=

%* ¥ ¥

2
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